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E-o-arq6<ilq{q6 qr.f d furfto risqr sa t sz d qtq, errtlfi ={o- sofro, 42fr0, 43fr0,

EII6T do- agzg, tfl-q-elqfgq, eT6r-.il-{rq6ql-r6gg, TE,frfl-q<N, trlrl_{- qtq$ rrt rIIttT
fq}fdruq orfro fto d rwrF{n R& onseferzffid vw fu ssr t qq n-o riqr q

ffi qFf tg 0.07302 to *fua m r1fr ot qTfffi fu o.ro to erq{n q*nfr w ermt
sftfi{q *f,{l

sfdqro, TffiFirifun-rq-{frr E-r frr+{ur

J

f

ffi'.H. q$ry qrt 6"rd ffr{'r erq{rH (soq)

1 2 3 4

1 gQIrI Anut orc dfHq + erFrq go mrd 38500.00
2 tFdlq qtut geil-ttq"T , 31700.00
3 Edt+ awr ei-gqwr seffi qq 9600.00
4 qflet 

"wl
Qrgqe{ur ltdlq qq 7200.00

5 fr-qqr anq oi-g{e{ur e$q qq 7200.00
b E-6t 4qu1 o[E{&rq a-get qq 7200.00
7 qkF[I qtut orgveTur fdql qq 7200.00
8 3{Ttr[T qqlT efigqerq tr-dr q.E 7200.00
9. fr-qr q-{ul €r5{qTur e'rcrqi qq 720CI00
10 {flql q{ul srE{erur qTei-qT qt 7200.00-
11 TqI{EtXI q{q orgq€TUI;il'fl qq 7200.0o
12 qf€qt q{q eqqeilur evrqi q-E 7200.00

qtr 144600.00
qt 1,44,600.00

a-

eqTrnq fteRTo
qTqTfu-tr q1ffi yqm, d-qg{
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sTki5. (r EO 174 - sfu rTr+q lffis

q'+Tr{hq fte$fr
qmrfufi qft-a1 wnr. d-{g3

4,,---

lr.$. irrq 6T Flil{u[ {6.r{ qEn T{ erfirRr (so)

2 3 4 5 6

T.s6.-r q{{r 
I

qrfr rrs--6r 100.00 1.39 139.0C

2 rtc-*dl q dreqRriF 6sTI t{iI*F oT fiq q TlrIuI E

{4 fiEA d srq frf,-{r{ (Sovwo,et1

qld q'ltt 100.00 013

6.

13.0C

3 qs--d q fi-qr slE e-t rqFI Tffi +i 100.00 9.92 992.0(

4 q)q oT 1is (g cfrcrf, oTRfff) clfr qlq 100.00 70.00 7000.0(

5 ilgtg znrt

6 dr$ns Bg ornodlo$to ITHTI dI qrst-r
(o:s:t d fii-€ a?t-e)

cfr 50.00 196.00 9800.0(

g qnfi oT lP{rqlq gdrq sfr 50.00 3.28 164.0C

,IT nn qfr @ 61 t5r$ q.r.fi. 1000.00 0.85 850.0c

6 q)tfr znr gar+ (s cfilcrf, srtdt{.m)0fiqlo ro-zo) qfA dtr 100.00 17.40 1740.0(

5 qlqI6T telrqrq gdl;t qif qtr 100-00 5.91 591.0(

6 frErqlqur q em-dr {r-{rg E gr< ffiqH qR dq 100.00 4.87 487.0(

7 N T-er$ z en qft dtr 200.00 1.12 224.0(

8 feqrS sffirq r1!.{ EE s qfq (ex625) qH AE 900.00 2.88 2592.0t

I srsrqBo sdr-6, +trqrcr6 an c*rr {fl rrFd d0q0 100.00 1.00 100.0c

1q EFeTr tsE sr+{ (s Bfro/ts0) zt+/s cR to 20.00 174.04 3480.0(

't1 {iq tqlgBTrtcq dre/ftr'Tr{ttq i{fl/4ffi d
rqrqil siqrR t

vfr 55f, 0.00 0.00 650.0(

12 gm{rw o-d d qrq e-fr q$ d o.nure{frfrfii
eirq I

gqtrffi 6l
ro qfrYrd

100.00 0.00

dT 31702.00
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trq. 6r{ 6T lirr{ut 56.19 qI.TT qt u-wrf* fso)
1 2 3 4 5 6

1 *eii at RiqTg fuilrfrq trf,e{/afi{ ilq SqE
HIR d ae vR-o 12 grt (12x1oo)

ffi SieI 1200.00 2.88 3456.0C

2 frrTt oT lffi ,t-.sr$ e en ch dET 300.00 1.12 336.0(

3 or-iqr-€ rr{Erd -} *F 4 .* g4. 5{d 0.00 0.00 200.0(

4 imTqfuf, str{f,, oT-r*ia or cutq pu vRr
1 grt

gf, 5Td' 0.00 0.00 300.0(

5 q{eTT Fg srq{ gosls-73 ttrq cfr to 26.00 161.00 4186.0(

6 erq qqlfuirffq tr{e{/e6{ d} rr$qa g'iqiii
vrB-a't

g.f, 5qd 0.00 0.00 270.0(

7 E-t-q a qq-q q-dl E1-I o. or{ul sTltlftftr qq 
I

gq{FKI ?E-I

ro sft$(
100.00 0.00 870.0(

uil.r 9618.0C

gT 9600.00

qsur (3i-gsqilrl

Efiq q{ur (q-gqerur seffi q$)

+Tfro Tr so 1r4 / - qfr qmq fftH

*rfr-tr sfr k{s

,)ifu6 T{ rso 174 / - ffi-qmq fq-+tT

eqFftq fttsro
"TFTrfuo qTM eqFT, *{gq(L--

!D..TI. 6rq iFI Frflur .. .. E6.r{ IITTI (t ffi{rRr (so)
1 2 3 4 5 6' '--

1 flrii ol lIffi o qn clt frEr 600.00 2.88 1728.0(

2 f,rit @it lN XEr{ r en cffr fr'er 100.00 1.12 112.OC

3 gwr Eg qr{{ sft Bo 26.00 174.00 4524.O(

4 sI;{I qq \-n 5Ta 0.00 0.00 250.0c

5 ol-d S' sqq qfr T{t d' olqq oifrRm qq 
t scQ-ff 6l 100.00 0.00 620.0(

qFr 7234.0C

qr 7200.00

qEur (erSrerur

rF.IL orq s"r FFNUr wr-{ qT-[T (t u-*rflr (uo)
,| 2 3 4 5 6

I qIqT SI I*r=n-$ o eR cm +T 600.00 2.88 1728.0(

2 qTER u6T tffi qg6 .r * sh q)q 100.00 1.12 112.0t

3 grar fg eia< cR Bo 26.00 174.00 4524.0t

4 3IdI AEI g-o 5Tf, 0.00 0.00 250.0(

5 elq 6 eq-q q.a q-iT o. 6.r{ur sTIilLtr qq 
I

gctlrlf, 6r 100.00 0.00 620.0(

qFr 7234.0A

t /72oo.oa
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sTfr-f, qq so fi4/- sfr qr.rq fffi
I

a mr$ or Fffiq Eo-rg TII-[ q{ rwrRr (so)

2 3 4 5 6

1 ddi Et ftrqr$ 6 Grrq sR qleT 600.00 2.88 1728.0C

2 qldi ht f{ti-{ T'€T-S 1 qn vft dq 100.00 1.12 112.0C

3 gwr tg ar+< sfr to 26.00 174.00 4524.0C

4 3ildl arrl q-{. 5Td 0.00 0.00 250.0r

5 fl-d d rsrq r.fr qrl A onq oilAR-ffi qq t
gERIff TT 100.00 0.00 620.0c

*q 7234.00
gI 7200.00

Twm(argraur H',- no tttq/.- sfrrrr"rqfuss

| + l.rq qq I 
q* 5td | 0.00 | 0 00 | 250.q- -

- BTrcqiq{q (u1twru-diqs) +
,..a.-;- ' srfufi ({ so ra / - sfr qrqq furs

,Eg. oTq irr fil-{{ur Ea-r{ TIHT qt qwrRr Foo)
1 2 3 4 5 6

1 frETl dl 1+rqrg 6 cfn qfil freI 600.00 2.88 1728.0C

2 freTt q,t ftri'{ Tgd 1 qn qR freT 100.00 1.12 112.0C

3 Wsr tsg tntn ffito 26.00 174.00 4524.O(

4 3IA[ AEI 96 5rf, 0.00 0.00 250.0(

5 EFr=4 S rrqq cr.fr Trl d'6RUt efiilttm qq 
t

grNrffi 6i 100.00 0.00 620.0(

dq 7234.00

qT 7200.00

q{uT qId-qT(ergverr

sTfuo E{ so fiq / - sfr qr.rq k{s
fr"q. oT{I or lq-flur E+.rg Etl er+crPr (so)

1 2 3 4 5 6

1 qlsit of ftffi 6 qrq sfr qlq 600.00 2.88 1728.0C

2 frrit frt tN WTt 1 Erq sR qq 100.00 't.12 112.0C

3 qqffir tf, qrfl ffito 26.00 174.00 4524.0C

4 3{?q qq \-6. sYfl 0.00 0.00 250.0(

5 oTd A qqq q.& qrt d ENq srRttm qq 
t srd-ff EI 100.00 0.00 620.0(

- qFr 7234.00

gT 7200.00



({ 50 174/- Tilqcl

7F',.q. o'nl a filfiq {6r{ TIEII TT trrtrRr (\so)

1 2 3 4 5 6

1 qlqt hT fW 6 qR eh qltr 600.00 2.88 1728.0A

2 qiErt dT IT{rg T-sr$ r eR fft QtI 100.00 1.12 112.OC

3 g{E{r Bg qmt ffito 26.00 174.00 4s24.0C

4 3rQI qq \-6 5qtr 0.00 0.00 250.00

5 6rd S' sqq q.dt q{f A 6rqq erliltt-m qq 
t swrff 6'r 100.00 0.00 620.0c

q}.r 7234.00
, EI'A gI 7200.00

q{uT

RHrqwrffi<uur.*Hl

(ergtmw

sfr

sTfuo <r-ft0 i,t+/- qfr" +{q fu{w

sTfur Eq rro tt+ / - yfr qFrq fu{s
or$ or tilfiur {rr{ III?{T (t erfirRr (i6o)

1 2 3 4 5 6

1 frEitfiRiq'r{6qN qfil g\q 600.00 2.88 1728.0C

2 flrit fr1 N tEr{ r eT( qR dq 100.00 1.12 112.0C

3 Esm B-g otw sfr to 26.00 174.00 4524.0t

4 3rq qil \-4 5qf, 0.00 0.00 250.0c

5 orq S irrq e-.d} r{f zF oTrq eiidttffi aurq t BTrl-frr 6'r 100.00 0.00 620.0c

qFr 7234.OO

qr 7200.00

fi.q. ?F',rq oT lil'tNur go.r{ TIT{I TT ${ttttr (iso)

1 2 3 4 5 6

1 qffi dT Rfqr{ 6 GIN qR dq 600.00 2.88 1728.0C

2 qIEil ?F'J r+{rS Tgig 1 qn sR qlq 100.00 1.12 112.0C

3- gler fu-rct EF.& 26.00 174.00 4524.0C

4 3rq qq 14. g5d 0.00 0.00 250.0c

5 @r{ A' sryq q-.dT qA A' 6nq efilttm qq 
t

gwrfii 6-r 100.00 0.00 620.0c

rfrr 7234.00
gT 7200.00

g
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,*.h6i
eqrrftq f{iyEn

qrqrfu6 qTffi qqFr, dt-{grE>-


